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II. FELADAT Elérhető pontszám: 5 pont 

Tapescript: 
 

A Singapore Airlines flight from Singapore to the Australian town of Brisbane made 

an unscheduled stop on Thursday for security reasons. As a result of this unexpected 

landing an Australian man may have to pay a high penalty bill. 

The 50-year-old Australian man had a heated argument with his girlfriend after the 

plane took off from Singapore. Following the row the man had several drinks and 

became unbearably rude. When the flight crew refused to serve him any more drinks, 

he physically insulted one of the flight attendants. 

For safety reasons the pilot decided to make an unscheduled stop and get rid of the 

violent passenger.  

He was handed over to police after flight SQ 235, carrying 298 passengers and 14 

crew landed in Darwin at 3.41 a.m. local time. When he was led off the aircraft by the 

police, the passengers cheered, a spokesman said. 

The man pleaded guilty at a later court appearance to behaving in an insulting 

manner. 

Singapore Airlines estimated the additional cost for making an unscheduled stop at 

25,000 Australian dollars. 
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Karikázza be az egyes kérdésekhez/állításokhoz kapcsolódó helyes választ. 

1. Egy szingapúri légitársaság 

A. rendkívüli járatokat indított csütörtökön. 

B. nem tervezett leszállást hajtott végre. 

C. bírságot fizethet egy leszállásért. 

 

2. Mi történt a fedélzeten? 

A. Az egyik utas barátnője rosszul lett. 

B. Egy utaskísérő túl sok italt fogyasztott. 

C. Egy férfi utas agresszíven viselkedett. 

 

3. Mit tudunk meg a járatról? 

A. 290 utas volt fedélzetén. 

B. Délután 3 körül landolt. 

C. 14 fős személyzete volt. 

 

4. A bíróságon a férfi 

A. nagyon későn jelent meg. 

B. rendkívül durván viselkedett. 

C. bűnösnek vallotta magát. 

 

5. 25 ezer ausztrál dollár az az összeg, 

A. amivel a leszállás megnövelte a költségeket. 

B. amivel a légitársaság tartozik az utasoknak. 

C. amennyibe a nem tervezett járatok indítása került.
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